Regulation/Activity	Annual Respondents	Average Number of Responses per Respondent	Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours*	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours	Average Nonhour Burden Cost per Response	Total Annual Nonhour Burden Cost*	Average Time for Gov't Review (Hours)	Cost to Govt (\$55.91/hour)
Application - Import of Spo	rt-hunted Trop	hies of Southern	African Leopa	rd and Namibi	an Southern	White Rhino	cceros (Form	3-200-19)			
Individuals/Households	172	1.1	189.00	0.33	63.00	\$36.77	\$2,316.51	\$100	\$18,900		
Private Sector	0	0	0.00	0.33	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost to	the Governme	ent (3.5 hours p	er response):	662	\$36,984.47
Application - Import of Spo	rt-hunted Trop	hies of Southern	African Leopa	rd and Namibi	an Southerr	White Rhind	occeros (Form	3-200-19) (ePe	rmits)		
Individuals/Households	172	1.1	189.00	0.25	47.00	\$36.77	\$1,728.19	\$100	\$18,900		
Private Sector	0	0	0.00	0.25	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.25	0.00	50.89	0.00	0	0		
						Cost to t	he Governme	nt (3.25 hours բ	er response):	614	\$34,342.72
Application - Import of Spo											
Individuals/Households	99	1	99.00	1.00	99.00	\$36.77	\$3,640.23	\$100	\$9,900		
Private Sector	0	0	0.00	1.00	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	1.00	0.00	50.89	0.00	0	0		
	743	\$41,513.18									
Application - Import of Spo	rt-Hunted Trop	hies (Appendix I	of CITES and/	or ESA) (Form	3-200-20) (e	Permits)					
Individuals/Households	99	1	99.00	0.75	74.00	\$36.77	\$2,720.98	\$100	\$9,900		
Private Sector	0	0	0.00	0.75	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.75	0.00	50.89	0.00	0	0		
						Cost to t	he Governme	nt (7.25 hours p	per response):	718	\$40,129.40
Application - Import of Spo	rt-Hunted Trop	hies of Argali (Fo	rm 3-200-21)								
Individuals/Households	56	1.20	67.00	0.75	50.00	\$36.77	\$1,838.50	\$100	\$6,700		
Private Sector	0	0	0.00	0.75	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.75	0.00	50.89	0.00	0	0		
						Cost to	the Governme	ent (7.5 hours p	per response):	503	\$28,094.78
Application - Import of Spo	rt-Hunted Trop	hies of Argali (Fo	rm 3-200-21) ((ePermits)							
Individuals/Households	56	1.20	67.00	0.60	40.00	\$36.77	\$1,470.80	\$100	\$6,700		
Private Sector	0	0	0.00	0.60	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.60	0.00	50.89	0.00	0	0		
						Cost to t	the Governme	nt (7.25 hours µ	per response):	486	\$27,158.28
Application - Import of Spo	rt-Hunted Bont	ebok Trophies fro	om South Afric	ca (Form 3-200	-22)						
Individuals/Households	30	1.01	30.00	0.33	10.00	\$36.77	\$367.70	\$100	\$3,000		
Private Sector	0	0	0.00	0.33	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
	·					Cost to	the Governme	ent (4.5 hours p	per response):	135	\$7,547.85

Application - Import of Sp	ort-Hunted Bon	tebok Trophies fr	om South Afri	ca (Form 3-20	0-22) (ePerm	its)					
Individuals/Households	30	1.01	30.00	0.25	8.00	\$36.77	\$294.16	\$100	\$3,000		
Private Sector	0	0	0.00	0.25	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.25	0.00	50.89	0.00	0	0		
						Cost to th	ne Governmer	nt (4.25 hours p	er response):	128	\$7,128.53
Application - Export of Pro	e-Convention, P	re-Act, or Antique	e Specimens (CITES, MMPA,	and/or ESA	(Form 3-200-	23)				
Individuals/Households	18	1	18.00	0.75	14.00	\$36.77	\$514.78	\$75	\$1,350		
Private Sector	36	1.90	68.00	0.75	51.00	34.49	1,758.99	75	5,100		
State/Local/Tribal	1	1.83	2.00	0.75	2.00	50.89	101.78	0	0		
	•					Cost to	the Governme	ent (1.5 hours p	er response):	132	\$7,380.12
Application - Export of Pr	e-Convention, P	re-Act, or Antiqu	e Specimens (CITES, MMPA	, and/or ESA) (Form 3-200-	23) (ePermits)			
Individuals/Households	18	1	18.00	0.60	11.00	\$36.77	\$404.47	\$75	\$1,350		
Private Sector	36	2	68.00	0.60	41.00	34.49	1,414.09	75	5,100		
State/Local/Tribal	1	2	2.00	0.60	1.00	50.89	50.89	0	0		
						Cost to th	ne Governmer	nt (1.25 hours p	er response):	110	\$6,150.10
Application - Export of Liv	ve Captive-Born	Animals (CITES)	(Form 3-200-2	4)							
Individuals/Households	1	1	1.00	0.75	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	42	3.31	139.00	0.75	104.00	34.49	3,586.96	100	13,900		
State/Local/Tribal	3	1.67	5.00	0.75	4.00	50.89	203.56	0	0		
			'	•	•	Cost to	o the Governn	nent (6 hours p	er response):	870	\$48,641.70
Application - Export of Liv	ve Captive-Born	Animals (CITES)	(Form 3-200-2	4) (ePermits)							
Individuals/Households	1	1	1.00	0.60	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	42	3.31	139.00	0.60	83.00	34.49	2,862.67	100	13,900		
State/Local/Tribal	3	1.67	5.00	0.60	3.00	50.89	152.67	0	0		
		•				Cost to th	ne Governmer	nt (5.75 hours p	er response):	834	\$46,614.96
Application - Export of Ra	uptors (MBTA an	d/or CITES) (Forn	n 3-200-25)								
Individuals/Households	0	0	0.00	1.00	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	10	3.38	34.00	1.00	34.00	34.49	1,172.66	100	3,400		
State/Local/Tribal	0	0	0.00	1.00	0.00	50.89	0.00	0	0		
	•	•				Cost to	o the Governn	nent (5 hours p	er response):	170	\$9,504.70
Application - Export of Ra	aptors (MBTA an	d/or CITES) (For	n 3-200-25) (el	Permits)							
Individuals/Households	0	0	0.00	0.75	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	10	3.38	34.00	0.75	26.00	34.49	896.74	100	3,400		
State/Local/Tribal	0	0	0.00	0.75	0.00	50.89	0.00	0	0		
						Cost to th	he Governmer	nt (4.75 hours p	er response):	162	\$9,029.47
Application - Export of Sk	ins of 6 Native S	Species: bobcat,	lynx, river otte	er, Alaskan bro	own bear, Ala			<u> </u>		-200-26)	
Individuals/Households	1	1	1.00	0.33	0.00	\$36.77	\$0.00	\$100	\$100		
Private Sector	20	4.58	92.00	0.33	31.00	34.49	1,069.19	100	9,200		
State/Local/Tribal	1	1	1.00	0.33	0.00	50.89	0.00	0	0		
						1 00.00	3.30				

						Cost	to the Govern	nment (1 hour p	er response):	94	\$5,255.54
Application - Export of Skins	of 6 Native Spe	cies: Bobcat, Lyı	nx, River Otter,	Alaskan brown	n bear, Alaska	n Gray Wolf, a	and American A	lligator (CITES)	(Form 3-200-26) (ePermits)	
Individuals/Households	1	1	1.00	0.25	0.00	\$36.77	\$0.00	\$100	\$100		
Private Sector	20	4.58	92.00	0.25	23.00	34.49	793.27	100	9,200		
State/Local/Tribal	1	1	1.00	0.25	0.00	50.89	0.00	0	0		
						Cost to	o the Governn	nent (.5 hours p	er response):	47	\$2,627.77
Application - Export of Wile	dlife Removed	from the Wild (Li	ve/Samples/Pa	rts/Products ((CITES) (Forn	n 3-200-27)					
Individuals/Households	4	1	4.00	0.75	3.00	\$36.77	\$110.31	\$100	\$400		
Private Sector	18	1.83	33.00	0.75	25.00	34.49	862.25	100	3,300		
State/Local/Tribal	5	1.20	6.00	0.75	5.00	50.89	254.45	0	0		
		•				Cost	to the Governi	nent (5 hours p	er response):	215	\$12,020.65
Application - Export of Wile	dlife Removed	from the Wild (Li	ve/Samples/Pa	rts/Products ((CITES) (Forn	n 3-200-27) <i>(</i> e	Permits)		·		
Individuals/Households	4	1	4.00	0.60	2.00	\$36.77	\$73.54	\$100	\$400		
Private Sector	18	1.83	33.00	0.60	20.00	34.49	689.80	100	3,300		
State/Local/Tribal	5	1.20	6.00	0.60	4.00	50.89	203.56	0	0		
						Cost to t	he Governmei	nt (4.75 hours p	er response):	204	\$11,419.62
Application - Export of Tro	phies by Hunte	rs or Taxidermis	ts (CITES) (For	rm 3-200-28)					·		
Individuals/Households	56	1.81	101.00	0.50	51.00	\$36.77	\$1,875.27	\$100	\$10,100		
Private Sector	0	0	0.00	0.50	0.00	34.49	0.00	100	0		
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0		
						Cost	to the Governi	nent (2 hours p	er response):	202	\$11,293.82
Application - Export of Tro	phies by Hunte	rs or Taxidermis	ts (CITES) (Foi	rm 3-200-28) (ePermits)				·		
Individuals/Households	56	2	101.00	0.33	34.00	\$36.77	\$1,250.18	\$100	\$10,100		
Private Sector	0	0	0.00	0.33	0.00	34.49	0.00	100	0		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost to t	he Governmei	nt (1.75 hours p	er response):	177	\$9,882.09
Application - Export/Re-Ex	port of Wildlife	Samples and/or	Biomedical Sa	mples (CITES) (Form 3-200)-29)					
Individuals/Households	1	2.5	3.00	2.50	8.00	\$36.77	\$294.16	\$125	\$375		
Private Sector	46	3.5	161.00	2.50	403.00	34.49	13,899.47	125	20,125		
State/Local/Tribal	15	3.04	46.00	2.50	115.00	50.89	5,852.35	0	0		
						Cost	to the Governi	nent (2 hours p	er response):	420	\$23,482.20
Application - Export/Re-Ex	port of Wildlife	Samples and/or	Biomedical Sa	mples (CITES) (Form 3-200)-29) (ePermi	ts)				
Individuals/Households	1	2.5	3.00	1.75	5.00	\$36.77	\$183.85	\$125	\$375		
Private Sector	46	3.5	161.00	1.75	282.00	34.49	9,726.18	125	20,125		
State/Local/Tribal	15	3.04	46.00	1.75	81.00	50.89	4,122.09	0	0		
						Cost to t	he Governmer	nt (1.75 hours p	er response):	368	\$20,546.93
Amendment - Export/Re-Ex	port of Wildlife	Samples and/or	Biomedical Sa	amples (CITES	6) (Form 3-20	0-29)					
Individuals/Households	1	2.5	3.00	2.00	6.00	\$36.77	\$220.62	\$100	\$300		
Private Sector	41	3.5	144.00	2.00	288.00	34.49	9,933.12	100	14,400		

State/Local/Tribal	5	3.04	15.00	2.00	30.00	50.89	1,526.70	0	0				
						Cost to	the Governme	ent (1.5 hours p	er response):	243	\$13,586.13		
Amendment - Export/Re-Ex	cport of Wildlife	Samples and/or	Biomedical Sa	amples (CITES	6) (Form 3-20	0-29) (ePerm	its)						
Individuals/Households	1	2.5	3.00	1.50	5.00	\$36.77	\$183.85	\$100	\$300				
Private Sector	41	3.5	144.00	1.50	216.00	34.49	7,449.84	100	14,400				
State/Local/Tribal	5	3.04	15.00	1.50	23.00	50.89	1,170.47	0	0				
						Cost to t	he Governmer	nt (1.25 hours p	er response):	203	\$11,321.78		
Application - Export/Re-exp	port/Re-import	of Circuses and T	Traveling Anim	nal Exhibitions	and Reissu	uance) (CITES	S/ESA) (Form 3	3-200-30)					
Individuals/Households	0	0	0.00	1.00	0.00	\$36.77	\$0.00	\$100	\$0				
Private Sector	13	1	13.00	1.00	13.00	34.49	448.37	100	1,300				
State/Local/Tribal	0	0	0.00	1.00	0.00	50.89	0.00	0	0				
						Cost	to the Governr	nent (5 hours p	er response):	65	\$3,634.15		
Application - Export/Re-exp	port/Re-import	of Circuses and T	Fraveling Anim	nal Exhibitions	s (and Reissu	uance) (CITES	S/ESA) (Form 3	3-200-30) (ePer	mits)				
Individuals/Households	0	0	0.00	0.75	0.00	\$36.77	\$0.00	\$100	\$0				
Private Sector	13	1	13.00	0.75	10.00	34.49	344.90	100	1,300				
State/Local/Tribal	0	0	0.00	0.75	0.00	50.89	0.00	0	0				
	•					Cost to t	he Governmer	nt (4.75 hours p	er response):	62	\$3,452.44		
Cost to the Government (4.75 hours per response): Amendment - Export/Re-export/Re-import of Circuses and Traveling Animal Exhibitions (and Reissuance) (CITES/ESA) (Form 3-200-30)													
Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$100	\$0				
Private Sector	2	1	2.00	0.50	1.00	34.49	34.49	100	200				
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0				
				•		Cost to	the Governme	ent (1.5 hours p	er response):	3	\$167.73		
Amendment - Export/Re-ex	port/Re-import	of Circuses and	Traveling Anii	mal Exhibition	s (and Reiss	uance) (CITE	S/ESA) (Form	3-200-30) (ePe	rmits)				
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$100	\$0				
Private Sector	2	1	2.00	0.33	1.00	34.49	34.49	100	200				
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0				
						Cost to t	he Governmer	nt (1.25 hours p	er response):	3	\$139.78		
Annual Report - Exhibition	Permittees (Fo	rm 3-200-30A)											
Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$0	\$0				
Private Sector	10	1	10.00	0.50	5.00	34.49	172.45	0	0				
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0				
						Cost to	the Governme	ent (0.5 hours p	er response):	5	\$279.55		
Annual Report - Exhibition	Permittees (Fo	rm 3-200-30A) (el	Permits)										
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$0	\$0				
Private Sector	10	1	10.00	0.33	3.00	34.49	103.47	0	0				
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0				
Cost to the Government (0.5 hours per response):													
Application - Introduction 1	from the Sea (C	ITES) (Form 3-20	0-31)					,	,				
Individuals/Households	1	1	1.00	2.00	2.00	\$36.77	\$73.54	\$100	\$100				
						,		30	,=30				

Private Sector	1	1	1.00	2.00	2.00	34.49	68.98	100	100		
State/Local/Tribal	1	1	1.00	2.00	2.00	50.89	101.78	0	0		
					•	Cost to	the Governme	ent (6.5 hours p	er response):	20	\$1,090.25
Application - Introduction	from the Sea (C	ITES) (Form 3-20	0-31) (ePermit	s)							
Individuals/Households	1	1	1.00	1.50	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	1	1	1.00	1.50	2.00	34.49	68.98	100	100		
State/Local/Tribal	1	1	1.00	1.50	2.00	50.89	101.78	0	0		
						Cost to th	he Governmer	nt (6.25 hours p	er response):	19	\$1,048.31
Amendment - Introduction	from the Sea (C	CITES) (Form 3-20	00-31)								
Individuals/Households	1	1	1.00	1.75	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	1	1	1.00	1.75	2.00	34.49	68.98	100	100		
State/Local/Tribal	1	1	1.00	1.75	2.00	50.89	101.78	0	0		
						Cost to	the Governme	ent (6.5 hours p	er response):	20	\$1,090.25
Amendment - Introduction	from the Sea (0	CITES) (Form 3-20	00-31) (ePermi	ts)							
Individuals/Households	1	1	1.00	1.25	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	1	1.00	1.25	1.00	34.49	34.49	100	100		
State/Local/Tribal	1	1	1.00	1.25	1.00	50.89	50.89	0	0		
Cost to the Government (6.25 hours per response):									19	\$1,048.31	
Application - Export/Re-ex	port of Plants (0	CITES) (Form 3-20	00-32)								
Individuals/Households	17	1.07	18.00	2.00	36.00	\$36.77	\$1,323.72	\$125	\$2,250		
Private Sector	38	2	76.00	1.00	76.00	34.49	2,621.24	125	9,500		
State/Local/Tribal	1	1	1.00	1.00	1.00	50.89	50.89	0	0		
						Cost to	o the Governn	nent (3 hours p	er response):	285	\$15,934.35
Application - Export/Re-ex	port of Plants (CITES) (Form 3-20	00-32) (ePermi	ts)							
Individuals/Households	17	1	18.00	1.75	32.00	\$36.77	\$1,176.64	\$125	\$2,250		
Private Sector	38	2	76.00	0.75	57.00	34.49	1,965.93	125	9,500		
State/Local/Tribal	1	1	1.00	0.75	1.00	50.89	50.89	0	0		
						Cost to th	ne Governmer	nt (2.75 hours p	er response):	261	\$14,606.49
Amendment - Export/Re-ex	xport of Plants (CITES) (Form 3-2	00-32)				1				1
Individuals/Households	5	1.07	5.00	1.75	9.00	\$36.77	\$330.93	\$125	\$625		
Private Sector	13	2	26.00	0.75	20.00	34.49	689.80	125	3,250		
State/Local/Tribal	1	1	1.00	0.75	1.00	50.89	50.89	0	0		
						Cost to	o the Governn	nent (3 hours p	er response):	96	\$5,367.36
Amendment - Export/Re-e											ı
Individuals/Households	5	1	5.00	1.50	8.00	\$36.77	\$294.16	\$125	\$625		
Private Sector	13	2	26.00	0.50	13.00	34.49	448.37	125	3,250		
State/Local/Tribal	1	1	1.00	0.50	1.00	50.89	50.89	0	0		
						Cost to th	ne Governmer	nt (2.75 hours p	er response):	88	\$4,920.08
Application - Export of Art	ificially Propaga	ated Plants (Form	3-200-33)								

Individuals/Households	1	15.2	15.00	2.00	30.00	\$36.77	\$1,103.10	\$200	\$3,000		
Private Sector	16	1.46	23.00	2.00	46.00	34.49	1,586.54	200	4,600		
State/Local/Tribal	0	0	0.00	2.00	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (20 hours p	er response):	760	\$42,491.60
Application - Export of Arti	ficially Propaga	ated Plants (Form	1 3-200-33) <i>(eP</i>	ermits)							
Individuals/Households	1	15	15.00	1.75	26.00	\$36.77	\$956.02	\$200	\$3,000		
Private Sector	16	1	23.00	1.75	40.00	34.49	1,379.60	200	4,600		
State/Local/Tribal	0	0	0.00	1.75	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	722	\$40,367.02
Amendment - Export of Art	ificially Propag	ated Plants (Forn	n 3-200-33)								
Individuals/Households	1	15.2	15.00	1.75	26.00	\$36.77	\$956.02	\$200	\$3,000		
Private Sector	10	1.46	15.00	1.75	26.00	34.49	896.74	200	3,000		
State/Local/Tribal	0	0	0.00	1.75	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (20 hours p	er response):	600	\$33,546.00
Amendment - Export of Art	ificially Propag	ated Plants (Forr	n 3-200-33) <i>(eF</i>	Permits)							
Individuals/Households	1	15	15.00	1.50	23.00	\$36.77	\$845.71	\$200	\$3,000		
Private Sector	10	1	15.00	1.50	23.00	34.49	793.27	200	3,000		
State/Local/Tribal	0	0	0.00	1.50	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	570	\$31,868.70
Application - Export of Am	erican Ginseng	(Form 3-200-34)									
Individuals/Households	1	2.7	3.00	0.33	1.00	\$36.77	\$36.77	\$125	\$375		
Private Sector	20	2	40.00	0.33	13.00	34.49	448.37	125	5,000		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost to	the Governme	ent (4.5 hours p	er response):	194	\$10,818.59
Application - Export of Am	erican Ginseng	(Form 3-200-34)	(ePermits)								
Individuals/Households	1	2.7	3.00	0.25	1.00	\$36.77	\$36.77	\$125	\$375		
Private Sector	20	2	40.00	0.25	10.00	34.49	344.90	125	5,000		
State/Local/Tribal	0	0	0.00	0.25	0.00	50.89	0.00	0	0		
						Cost to t	he Governmer	nt (4.25 hours p	er response):	183	\$10,217.55
Amendment - Export of Am	nerican Ginsenç	(Form 3-200-34)									
Individuals/Households	1	2.7	3.00	0.25	1.00	\$36.77	\$36.77	\$125	\$375		
Private Sector	5	2	10.00	0.25	3.00	34.49	103.47	125	1,250		
State/Local/Tribal	0	0	0.00	0.25	0.00	50.89	0.00	0	0		
						Cost to	the Governme	ent (4.5 hours p	er response):	59	\$3,270.74
Amendment - Export of Am	nerican Ginsen	g (Form 3-200-34)	(ePermits)								
Individuals/Households	1	2.7	3.00	0.20	1.00	\$36.77	\$36.77	\$125	\$375		
Private Sector	5	2	10.00	0.20	2.00	34.49	68.98	125	1,250		
State/Local/Tribal	0	0	0.00	0.20	0.00	50.89	0.00	0	0		
						Cost to t	he Governmer	nt (4.25 hours p	er response):	55	\$3,089.03

Application - Import of Wild	d Collected Ap	pendix 1 Plants (C	CITES) (Form 3	3-200-35)							
Individuals/Households	1	1	1.00	1.00	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	1	1.00	1.00	1.00	34.49	34.49	100	100		
State/Local/Tribal	1	1	1.00	1.00	1.00	50.89	50.89	0	0		
						Cost to	o the Governn	nent (2 hours p	er response):	6	\$335.46
Application - Import of Wild	d Collected Ap	pendix 1 Plants (0	CITES) (Form 3	3-200-35) (ePer	rmits)						
Individuals/Households	1	1	1.00	0.75	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	1	1.00	0.75	1.00	34.49	34.49	100	100		
State/Local/Tribal	1	1	1.00	0.75	1.00	50.89	50.89	0	0		
						Cost to th	he Governmen	nt (1.75 hours p	er response):	5	\$293.53
Application - Export/Import	t/Interstate and	Foreign Comme	ce of Plants (CITES and/or I	ESA) (Form 3	3-200-36)					
Individuals/Households	1	1	1.00	1.00	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	1	1.00	1.00	1.00	34.49	34.49	100	100		
State/Local/Tribal	1	1	1.00	1.00	1.00	50.89	50.89	0	0		
						Cost to	the Governme	nt (7.5 hours p	er response):	23	\$1,257.98
Application - Export/Import	t/Interstate and	Foreign Comme	rce of Plants (CITES and/or I	ESA) (Form 3	3-200-36) (ePe	rmits)				
Individuals/Households	1	1	1.00	0.75	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	1	1.00	0.75	1.00	34.49	34.49	100	100		
State/Local/Tribal	1	1	1.00	0.75	1.00	50.89	50.89	0	0		
						Cost to th	he Governmen	t (7.25 hours p	er response):	22	\$1,216.04
Application - CITES/ESA In	nport/Export/R	e-export of Live A	nimals (Form	3-200-37a)							
Individuals/Households	4	1	4.00	2.00	8.00	\$36.77	\$294.16	\$100	\$400		
Private Sector	20	1.33	27.00	2.00	54.00	34.49	1,862.46	100	2,700		
State/Local/Tribal	10	1.33	13.00	2.00	26.00	50.89	1,323.14	0	0		
						Cost to	the Governme	ent (20 hours p	er response):	880	\$49,200.80
Application - CITES/ESA In		-	nimals (Form	3-200-37a) (eF	ermits)						
Individuals/Households	4	1	4.00	1.75	7.00	\$36.77	\$257.39	\$100	\$400		
Private Sector	20	1.33	27.00	1.75	47.00	34.49	1,621.03	100	2,700		
State/Local/Tribal	10	1.33	13.00	1.75	23.00	50.89	1,170.47	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	836	\$46,740.76
Amendment - CITES/ESA II		1					. 1				
Individuals/Households	1	1	1.00	1.75	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	5	1.33	7.00	1.75	12.00	34.49	413.88	100	700		
State/Local/Tribal	3	1.33	4.00	1.75	7.00	50.89	356.23	0	0		4
						Cost to	the Governme	ent (20 hours p	er response):	240	\$13,418.40
Amendment - CITES/ESA II								****	****		
Individuals/Households	1	1	1.00	1.50	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	5	1.33	7.00	1.50	11.00	34.49	379.39	100	700		
State/Local/Tribal	3	1.33	4.00	1.50	6.00	50.89	305.34	0	0		

						Cost to t	the Governm	ent (19 hours p	er response):	228	\$12,747.48
Application - CITES/ESA Ex	xport Live Anin	nals under a CBW	/ (Form 3-200-	37b)					•		
Individuals/Households	4	1	4.00	2.00	8.00	\$36.77	\$294.16	\$100	\$400		
Private Sector	30	1.33	40.00	2.00	80.00	34.49	2,759.20	100	4,000		
State/Local/Tribal	24	1.33	32.00	2.00	64.00	50.89	3,256.96	0	0		
						Cost to t	the Governm	ent (20 hours p	er response):	1,520	\$84,983.20
Application - CITES/ESA Ex	xport Live Anin	nals under a CBW	/ (Form 3-200-	37b) (ePermits	s)				·		
Individuals/Households	4	1	4.00	1.75	7.00	\$36.77	\$257.39	\$100	\$400		
Private Sector	30	1.33	40.00	1.75	70.00	34.49	2,414.30	100	4,000		
State/Local/Tribal	24	1.33	32.00	1.75	56.00	50.89	2,849.84	0	0		
	•			•		Cost to t	the Governm	ent (19 hours p	er response):	1,444	\$80,734.04
Amendment - CITES/ESA E	xport Live Ani	mals under a CBV	V (Form 3-200-	-37b)							
Individuals/Households	1	1	1.00	1.75	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	7	1.33	9.00	1.75	16.00	34.49	551.84	100	900		
State/Local/Tribal	5	1.33	7.00	1.75	12.00	50.89	610.68	0	0		
		•		•		Cost to t	the Governm	ent (20 hours p	er response):	340	\$19,009.40
Amendment - CITES/ESA E	xport Live Ani	mals under a CBV	W (Form 3-200	-37b) (ePermit	ts)				·		
Individuals/Households	1	1	1.00	1.50	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	7	1.33	9.00	1.50	14.00	34.49	482.86	100	900		
State/Local/Tribal	5	1.33	7.00	1.50	11.00	50.89	559.79	0	0		
						Cost to t	the Governm	ent (19 hours p	er response):	323	\$18,058.93
Application - ESA Take (Cu	ill) (Form 3-200	-37c)									
Individuals/Households	0	1	0.00	1.00	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	24	1.33	32.00	1.00	32.00	34.49	1,103.68	100	3,200		
State/Local/Tribal	0	1.33	0.00	1.00	0.00	50.89	0.00	0	0		
		•				Cost to t	the Governm	ent (20 hours p	er response):	640	\$35,782.40
Application - ESA Take (Cu	ill) (Form 3-200	-37c) (ePermits)									
Individuals/Households	0	1	0.00	0.75	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	24	1.33	32.00	0.75	24.00	34.49	827.76	100	3,200		
State/Local/Tribal	0	1.33	0.00	0.75	0.00	50.89	0.00	0	0		
		•				Cost to t	the Governm	ent (19 hours p	er response):	608	\$33,993.28
Amendment - ESA Take (Cu	ull) (Form 3-200	0-37c)									
Individuals/Households	0	1	0.00	0.75	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	3	1.33	4.00	0.75	3.00	34.49	103.47	100	400		
State/Local/Tribal	0	1.33	0.00	0.75	0.00	50.89	0.00	0	0		
	·					Cost to t	the Governm	ent (20 hours p	per response):	80	\$4,472.80
Amendment - ESA Take (Co	ull) (Form 3-20	0-37c) (ePermits)									
Individuals/Households	0	1	0.00	0.50	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	3	1.33	4.00	0.50	2.00	34.49	68.98	100	400		

State/Local/Tribal	0	1.33	0.00	0.50	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	76	\$4,249.16
Application - ESA Interstat	e/Foreign Com	merce of Live/Sar	mples/Parts/Pr	oducts (Form	3-200-37d)						
Individuals/Households	1	1	1.00	2.00	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	1	1.33	1.00	2.00	2.00	34.49	68.98	100	100		
State/Local/Tribal	0	1.33	0.00	2.00	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (20 hours p	er response):	40	\$2,236.40
Application - ESA Interstat	e/Foreign Com	merce of Live/Sar	mples/Parts/Pr	roducts (Form	3-200-37d) (ePermits)					
Individuals/Households	1	1	1.00	1.75	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	1	1.33	1.00	1.75	2.00	34.49	68.98	100	100		
State/Local/Tribal	0	1.33	0.00	1.75	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	38	\$2,124.58
Amendment - ESA Intersta	te/Foreign Com	merce of Live/Sa	mples/Parts/P	roducts (Form	n 3-200-37d)				·		
Individuals/Households	1	1	1.00	1.75	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	1	1.33	1.00	1.75	2.00	34.49	68.98	100	100		
State/Local/Tribal	0	1.33	0.00	1.75	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (20 hours p	er response):	40	\$2,236.40
Amendment - ESA Intersta	te/Foreign Com	merce of Live/Sa	mples/Parts/P	roducts (Forn	n 3-200-37d) ((ePermits)			·		
Individuals/Households	1	1	1.00	1.50	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	1	1.33	1.00	1.50	2.00	34.49	68.98	100	100		
State/Local/Tribal	0	1.33	0.00	1.50	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	38	\$2,124.58
Application - CITES/ESA Ir	nport/Export/Re	e-export of Biolog	jical Samples	(Form 3-200-3	7e)						
Individuals/Households	4	1	4.00	2.00	8.00	\$36.77	\$294.16	\$100	\$400		
Private Sector	20	1.33	27.00	2.00	54.00	34.49	1,862.46	100	2,700		
State/Local/Tribal	10	1.33	13.00	2.00	26.00	50.89	1,323.14	0	0		
		•				Cost to	the Governm	ent (20 hours p	er response):	880	\$49,200.80
Application - CITES/ESA Ir	nport/Export/Re	e-export of Biolog	jical Samples	(Form 3-200-3	7e) (ePermits	;)					
Individuals/Households	4	1	4.00	1.75	7.00	\$36.77	\$257.39	\$100	\$400		
Private Sector	20	1.33	27.00	1.75	47.00	34.49	1,621.03	100	2,700		
State/Local/Tribal	10	1.33	13.00	1.75	23.00	50.89	1,170.47	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	836	\$46,740.76
Amendment - CITES/ESA I	mport/Export/R	e-export of Biolo	gical Samples	(Form 3-200-3	37e)						
Individuals/Households	1	1	1.00	1.75	2.00	\$36.77	\$73.54	\$100	\$100		
Private Sector	3	1.33	4.00	1.75	7.00	34.49	241.43	100	400		
State/Local/Tribal	3	1.33	4.00	1.75	7.00	50.89	356.23	0	0		
Cost to the Government (20 hours per response): 180											
Amendment - CITES/ESA I	mport/Export/R	e-export of Biolo	gical Samples	(Form 3-200-3	37e) (ePermit	s)					
Individuals/Households	1	1	1.00	1.50	2.00	\$36.77	\$73.54	\$100	\$100		

Private Sector	3	1.33	4.00	1.50	6.00	34.49	206.94	100	400		
State/Local/Tribal	3	1.33	4.00	1.50	6.00	50.89	305.34	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	171	\$9,560.61
Application - Import of Live	e African Eleph	ant and Southerr	n White Rhino	(Form 3-200-3	7f)						
Individuals/Households	0	1	0.00	1.00	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	2	1.33	3.00	1.00	3.00	34.49	103.47	100	300		
State/Local/Tribal	0	1.33	0.00	1.00	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (20 hours p	er response):	60	\$3,354.60
Application - Import of Live	African Elepha	ant and Southern	White Rhino	(Form 3-200-37	<mark>7f) (ePermits</mark>)					
Individuals/Households	0	1	0.00	0.75	0.00	\$36.77	\$0.00	\$100	\$0		
Private Sector	2	1.33	3.00	0.75	2.00	34.49	68.98	100	300		
State/Local/Tribal	0	1.33	0.00	0.75	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	57	\$3,186.87
Annual Report - ESA Take	(Cull) Permit (F	orm 3-200-37g)									
Individuals/Households	10	1	10.00	0.50	5.00	\$36.77	\$183.85	\$100	\$1,000		
Private Sector	38	1.33	51.00	0.50	26.00	34.49	896.74	100	5,100		
State/Local/Tribal	0	1.33	0.00	0.50	0.00	50.89	0.00	0	0		
	Cost to the Government (19 hours per response):										
Annual Report - ESA Take	(Cull) Permit (F	orm 3-200-37g) <i>(</i>	ePermits)								
Individuals/Households	10	1	10.00	0.33	3.00	\$36.77	\$110.31	\$100	\$1,000		
Private Sector	38	1.33	51.00	0.33	17.00	34.49	586.33	100	5,100		
State/Local/Tribal	0	1.33	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (19 hours p	er response):	1,159	\$64,799.69
Application - Certificate of	Scientific Exch	ange/COSE (CITE	S) (Form 3-20	0-39)							
Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1	2.00	0.50	1.00	34.49	34.49	100	200		
State/Local/Tribal	13	1	13.00	0.50	7.00	50.89	356.23	0	0		
						Cost	to the Governi	nent (3 hours p	er response):	45	\$2,515.95
Application - Certificate of	Scientific Exch	ange/COSE (CITE	ES) (Form 3-20	0-39) (ePermit	ts)						
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1	2.00	0.33	1.00	34.49	34.49	100	200		
State/Local/Tribal	13	1	13.00	0.33	4.00	50.89	203.56	0	0		
						Cost to t	he Governmei	nt (2.75 hours p	er response):	41	\$2,306.29
Amendment - Certificate of	Scientific Exch	nange/COSE (CIT	ES) (Form 3-20	00-39)							
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	0.33	0.00	34.49	0.00	100	100		
State/Local/Tribal	1	1	1.00	0.33	0.00	50.89	0.00	0	0		
						Cost	to the Governi	nent (3 hours p	er response):	6	\$335.46
Amendment - Certificate of	Scientific Exch	nange/COSE (CIT	ES) (Form 3-2	00- <mark>39)</mark> (ePermi	its)						

Private Sector 1	Individuals/Households	0	0	0.00	0.25	0.00	\$36.77	\$0.00	\$0	\$0		
State Contribute 1							·	· ·		· ·		
Annual Report - Certificate of Scientific Exchange (COSE) Special Reporting Conditions (Form 3-200-38A) Private Sector 1 1 1 1,000 0.50 1.00 34.40 34.40 0.00 0.00 0.00 0.00 0.00										100		
Annual Report - Certificate of Scientific Exchange (COSE) Special Reporting Conditions (Form 3-20-39A) Individuals All-Scientific Exchange (COSE) Special Reporting Conditions (Form 3-20-39A) Private Sector 1	State/Local/Tribal	1	1	1.00	0.25	0.00			ŭ	or roononcolu	6	¢207.51
Individuals Name	Annual Penort - Certificate	of Scientific Ex	(change (COSE)	Special Penor	ting Condition	c (Earm 2-20		ne Governmer	ιι (2.75 Hours μ	ier response).	0	\$307.51
Private Sector 1 1 1 1 1.00 0.50 1.00 34.40 34.40 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	•							\$0.00	0.2	¢n		
Sate Coalifir Sate Sat							·	· ·		Ф О		<u> </u>
Cost to the Government (0.5 hours per response): 5 \$251.60										0		<u> </u>
Annual Report - Certificate of Scientific Exchange (COSE) Special Reporting Conditions (Form 3-200-39A) (ePermits) Individuals/Households	State/Local/Tribal	0	1	6.00	0.50	4.00				or recoence):	F	\$251.60
Individuals Fourier	Annual Penort - Certificate	of Scientific Ex	vchange (COSE)	Special Depor	ting Condition	e (Eorm 3-20			ant (0.5 nours p	iei response).	3	\$231.00
Private Sector 1 1 1 1 1.00 0.40 0.00 34.49 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	-								0.2	90		
State Local Tribal 8							·	·		ф0 О		
Cost to the Government (0.5 hours per response): 5 \$251.60										0		<u> </u>
Application - Export and Re-export of Museum Specimens (Form 3-200-40) Individuals/Households	State/Local/Tribal	0		6.00	0.40	3.00				or recoence):	F	\$251.60
Individuals/Households 0	Application - Export and P	e-export of Mus	coum Specimens	(Eorm 2-200-4	0)		Cost to	the Governme	ant (0.5 nours p	er response).	3	\$231.00
Private Sector 3		-				0.00	\$26.77	\$0.00	n\$	90		
State/Local/Tribal 1			_			1 11	·	·	·			
Cost to the Government (4 hours per response): 16 S894.56										0		
Application - Export and Re-export of Museum Specimens (Form 3-200-40) (ePermits) Individuals/Households 0	State/Local/Tribal		1	1.00	1.00	1.00				er recnonce):	16	\$204.56
Individuals/Households	Application - Export and R	e-export of Mus	seum Snecimens	(Form 3-200-4	(0) (ePermits)			to the Governi	nent (4 nours p	ici response).	10	\$654.50
Private Sector 3						0.00	\$36.77	\$0.00	\$0	\$0		
State/Local/Tribal 1							·			· ·		
Cost to the Government (3.75 hours per response): 15 \$838.65										0		
Amendment - Export and Re-export of Museum Specimens (Form 3-200-40) Individuals/Households	State/Eodai/Tribai			1.00	0.75	1.00				er response):	15	\$838.65
Individuals/Households 0 0 0.00 0.75 0.00 \$36.77 \$0.00 \$0 \$0 \$0 \$0 \$0 \$0	Amendment - Export and F	Re-export of Mu	seum Specimens	(Form 3-200-4	40)		0001101		it (oir o riouro p	or response).		+ + + + + + + + + + + + + + + + + + +
Private Sector 1 1 1 1.00 0.75 1.00 34.49 34.49 100 100 State/Local/Tribal 1 1 1.00 0.75 1.00 50.89 50.89 0 0 0 Cost to the Government (4 hours per response): 8 \$447.28 Amendment - Export and Re-export of Museum Specimens (Form 3-200-40) (ePermits) Individuals/Households 0 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 Private Sector 1 1 1 1.00 0.50 1.00 34.49 34.49 100 100 State/Local/Tribal 1 1 1.00 0.50 1.00 50.89 50.89 0 0 Cost to the Government (3.75 hours per response): 8 \$419.33 Annual Report - ESA Museum Permit (Form 3-200-40A) Individuals/Households 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 State/Local/Tribal 3 1 3.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 50.89 101.78 0 0						0.00	\$36.77	\$0.00	\$0	\$0		
State/Local/Tribal 1							·					
Cost to the Government (4 hours per response): 8 \$447.28										0		
Amendment - Export and Re-export of Museum Specimens (Form 3-200-40) (ePermits) Individuals/Households 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 Private Sector 1 1 1.00 0.50 1.00 34.49 34.49 100 100 State/Local/Tribal 1 1 1.00 0.50 1.00 50.89 50.89 0 0 Cost to the Government (3.75 hours per response): 8 \$419.33 Annual Report - ESA Museum Permit (Form 3-200-40A) Individuals/Households 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 Private Sector 2 1 2.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0			_						nent (4 hours n	er response):	8	\$447.28
Individuals/Households	Amendment - Export and F	Re-export of Mu	seum Specimens	(Form 3-200-	40) (ePermits)							
State/Local/Tribal 1 1.00 0.50 1.00 50.89 50.89 0 0 Cost to the Government (3.75 hours per response): 8 \$419.33 Annual Report - ESA Museum Permit (Form 3-200-40A) Individuals/Households 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 Private Sector 2 1 2.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0	Individuals/Households		-			0.00	\$36.77	\$0.00	\$0	\$0		
State/Local/Tribal 1 1.00 0.50 1.00 50.89 50.89 0 0 Cost to the Government (3.75 hours per response): 8 \$419.33 Annual Report - ESA Museum Permit (Form 3-200-40A) Individuals/Households 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 Private Sector 2 1 2.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0	Private Sector	1	1									
Cost to the Government (3.75 hours per response): 8 \$419.33 Annual Report - ESA Museum Permit (Form 3-200-40A) Individuals/Households 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 Private Sector 2 1 2.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0	State/Local/Tribal									0		
Annual Report - ESA Museum Permit (Form 3-200-40A) Individuals/Households 0 0 0.00 0.50 0.00 \$36.77 \$0.00 \$0 \$0 Private Sector 2 1 2.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0									nt (3.75 hours p	er response):	8	\$419.33
Private Sector 2 1 2.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0	Annual Report - ESA Muse	eum Permit (For	m 3-200-40A)							, , , , ,		
Private Sector 2 1 2.00 0.50 1.00 34.49 34.49 0 0 State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0	Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$0	\$0		
State/Local/Tribal 3 1 3.00 0.50 2.00 50.89 101.78 0 0	Private Sector	2	1	2.00	0.50	1.00	34.49	34.49		0		
									0	0		
									nt (0.25 hours n	er response):	1	\$69.89

Annual Report - ESA Muse	eum Permit (Foi	rm 3-200-40A) <i>(eP</i>	ermits)								
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1	2.00	0.33	1.00	34.49	34.49	0	0		
State/Local/Tribal	3	1	3.00	0.33	1.00	50.89	50.89	0	0		
						Cost to th	ne Governmer	t (0.25 hours p	er response):	1	\$69.89
Application - Captive-Bred	Wildlife Regist	ration/CBW (Forn	n 3-200-41)								
Individuals/Households	0	0	0.00	2.00	0.00	\$36.77	\$0.00	\$200	\$0		
Private Sector	31	1	31.00	2.00	62.00	34.49	2,138.38	200	6,200		
State/Local/Tribal	0	0	0.00	2.00	0.00	50.89	0.00	0	0		
						Cost to	o the Governn	nent (6 hours p	er response):	186	\$10,399.26
Application - Captive-Bred	Wildlife Regist	tration/CBW (Forn	n 3-200-41) <i>(el</i>	Permits)							
Individuals/Households	0	0	0.00	1.75	0.00	\$36.77	\$0.00	\$200	\$0		
Private Sector	31	1	31.00	1.75	54.00	34.49	1,862.46	200	6,200		
State/Local/Tribal	0	0	0.00	1.75	0.00	50.89	0.00	0	0		
						Cost to th	ne Governmen	t (5.75 hours p	er response):	178	\$9,965.96
Amendment - Captive-Bred	d Wildlife Regis	tration/CBW (For	m 3-200-41)	_							
Individuals/Households	0	0	0.00	1.75	0.00	\$36.77	\$0.00	\$200	\$0		
Private Sector	10	1	10.00	1.75	18.00	34.49	620.82	200	2,000		
State/Local/Tribal	0	0	0.00	1.75	0.00	50.89	0.00	0	0		
						Cost to	o the Governn	nent (6 hours p	er response):	60	\$3,354.60
Amendment - Captive-Bred	d Wildlife Regis	tration/CBW (For	m 3-200-41) (e	Permits)							
Individuals/Households	0	0	0.00	1.50	0.00	\$36.77	\$0.00	\$200	\$0		
Private Sector	10	1	10.00	1.50	15.00	34.49	517.35	200	2,000		
State/Local/Tribal	0	0	0.00	1.50	0.00	50.89	0.00	0	0		
						Cost to th	ne Governmen	t (5.75 hours p	er response):	58	\$3,214.83
Annual Report - Captive-B	red Wildlife Reg	gistration/CBW R	eport (Form 3-	200-41A)							
Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	92	1	92.00	0.50	46.00	34.49	1,586.54	0	0		
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0		
						Cost to	the Governme	nt (0.5 hours p	er response):	46	\$2,571.86
Annual Report - Captive-B	red Wildlife Reg	gistration Report	(Form 3-200-4)								
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	92	1	92.00	0.33	30.00	34.49	1,034.70	0	0		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost to	the Governme	nt (0.5 hours p	er response):	46	\$2,571.86
Application - Import/Acqui	sition/Transpor	t of Injurious Wil	dlife (Form 3-2	00-42)							
Individuals/Households	1	1	1.00	1.00	1.00	\$36.77	\$36.77	\$63	\$63		
Private Sector	29	1	29.00	1.00	29.00	34.49	1,000.21	63	1,827		
State/Local/Tribal	20	1	20.00	1.00	20.00	50.89	1,017.80	0	0		

						Cost t	o the Governn	nent (3 hours p	er response):	150	\$8,386.50
Application - Import/Acqui	isition/Transpor	t of Injurious Wil	dlife (Form 3-2	200-42) (ePerm	its)						
Individuals/Households	1	1	1.00	0.75	1.00	\$36.77	\$36.77	\$63	\$63		
Private Sector	29	1	29.00	0.75	22.00	34.49	758.78	63	1,827		
State/Local/Tribal	20	1	20.00	0.75	15.00	50.89	763.35	0	0		
						Cost to ti	he Governmer	nt (2.75 hours p	er response):	138	\$7,687.63
Application - Take/Import/	Transport/Expo	rt of Marine Mam	mals or Renev	val/Amendmer	nt of Existing	Permit (Form	3-200-43)				
Individuals/Households	1	1	1.00	2.33	2.00	\$36.77	\$73.54	\$132	\$132		
Private Sector	30	1.3	39.00	2.33	91.00	34.49	3,138.59	132	5,148		
State/Local/Tribal	2	1	2.00	2.33	5.00	50.89	254.45	0	0		
						Cost to	the Governm	ent (30 hours p	er response):	1,260	\$70,446.60
Application - Take/Import/	Transport/Expo	rt of Marine Mam	mals or Renev	val/Amendmer	nt of Existing	Permit (Form	1 3-200-43) (eF	Permits)			
Individuals/Households	1	1	1.00	1.80	2.00	\$36.77	\$73.54	\$132	\$132		
Private Sector	30	1	39.00	1.80	70.00	34.49	2,414.30	132	5,148		
State/Local/Tribal	2	1	2.00	1.80	4.00	50.89	203.56	0	0		
						Cost to	the Governm	ent (29 hours p	er response):	1,218	\$68,098.38
Application - Registration	of an Agency/T	annery (MMPA) (I	Form 3-200-44) (REMOVED -	TRANSFERI	RED TO OLE	1018-0092)				
Annual Report - Registere	d Agent/Tanner	y Inventory (Forn	1 3-200-44A) <i>(I</i>	REMOVED - TH	RANSFERRE	D TO OLE 10	18-0092)				
Application - Import/Expo	t/Re-export of F	Personal Pets (CI	ΓES or Wild Bi	rd Conservati	on Act) (Forn	n 3-200-46)					
Individuals/Households	60	1	60.00	0.50	30.00	\$36.77	\$1,103.10	\$50	\$3,000		
Private Sector	0	0	0.00	0.50	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0		
						Cost t	o the Governn	nent (2 hours p	er response):	120	\$6,709.20
Application - Import/Expo	t/Re-export of F	Personal Pets (CI	TES or Wild Bi	ird Conservati	on Act) (Forr			nent (2 hours p	er response):	120	\$6,709.20
Application - Import/Expo	rt/Re-export of F	Personal Pets (Cl	TES or Wild Bi	ord Conservati	on Act) (Forr			nent (2 hours p	s3,000	120	\$6,709.20
	1					m 3-200-46) <i>(e</i>	Permits)		. ,	120	\$6,709.20
Individuals/Households	60	1	60.00	0.33	20.00	n 3-200-46) (e \$36.77	Permits) \$735.40	\$50	. ,	120	\$6,709.20
Individuals/Households Private Sector	60	1 0	60.00 0.00	0.33	20.00	\$36.77 34.49 50.89	\$735.40 0.00 0.00	\$50 0	\$3,000 0	120	\$6,709.20 \$5,870.55
Individuals/Households Private Sector	60 0 0	0 0	60.00 0.00 0.00	0.33 0.33 0.33	20.00 0.00 0.00	\$36.77 34.49 50.89 Cost to ti	\$735.40 0.00 0.00 the Governmer	\$50 0	\$3,000 0		
Individuals/Households Private Sector State/Local/Tribal	60 0 0	0 0	60.00 0.00 0.00	0.33 0.33 0.33	20.00 0.00 0.00	\$36.77 34.49 50.89 Cost to ti	\$735.40 0.00 0.00 the Governmer	\$50 0	\$3,000 0		
Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir	60 0 0	1 0 0	60.00 0.00 0.00	0.33 0.33 0.33	20.00 0.00 0.00 y (WBCA) (F	\$36.77 34.49 50.89 Cost to ti	\$735.40 0.00 0.00 he Governmer	\$50 0 0 nt (1.75 hours p	\$3,000 0 0 eer response):		
Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir Individuals/Households	60 0 0 ds for Scientific	1 0 0 0 CRESEARCH OF ZOO 0	60.00 0.00 0.00 Diogical Breedi	0.33 0.33 0.33 ing and Displated 2.00	20.00 0.00 0.00 y (WBCA) (F	\$36.77 34.49 50.89 Cost to the orm 3-200-47	\$735.40 0.00 0.00 the Governmer \$0.00	\$50 0 0 nt (1.75 hours p	\$3,000 0 0 er response):		
Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir Individuals/Households Private Sector	60 0 0 ds for Scientific	1 0 0 0 Provided the second of	0.00 0.00 0.00 0.00 0.00 2.00	0.33 0.33 0.33 ing and Displa 2.00 2.00	20.00 0.00 0.00 y (WBCA) (F 0.00 4.00	\$36.77 34.49 50.89 Cost to the orm 3-200-47 \$36.77 34.49 50.89	\$735.40 0.00 0.00 the Governmer \$0.00 137.96 407.12	\$50 0 0 nt (1.75 hours p	\$3,000 0 0 er response): \$0 200		\$5,870.55
Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir Individuals/Households Private Sector	60 0 0 ds for Scientific 0 1 3	1 0 0 2 1.3	0.00 0.00 0.00 0.00 0.00 2.00 4.00	0.33 0.33 0.33 ing and Displa 2.00 2.00 2.00	20.00 0.00 0.00 y (WBCA) (F 0.00 4.00 8.00	\$36.77 34.49 50.89 Cost to to orm 3-200-47) \$36.77 34.49 50.89 Cost to	\$735.40 0.00 0.00 he Governmer \$0.00 137.96 407.12	\$50 0 0 nt (1.75 hours p \$0 100	\$3,000 0 0 er response): \$0 200	105	\$5,870.55
Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir Individuals/Households Private Sector State/Local/Tribal	60 0 0 ds for Scientific 0 1 3	1 0 0 2 1.3	0.00 0.00 0.00 0.00 0.00 2.00 4.00	0.33 0.33 0.33 ing and Displa 2.00 2.00 2.00	20.00 0.00 0.00 y (WBCA) (F 0.00 4.00 8.00	\$36.77 34.49 50.89 Cost to to orm 3-200-47) \$36.77 34.49 50.89 Cost to	\$735.40 0.00 0.00 he Governmer \$0.00 137.96 407.12	\$50 0 0 nt (1.75 hours p \$0 100	\$3,000 0 0 er response): \$0 200	105	\$5,870.5
Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir	ds for Scientific	1 0 0 0 CRESEARCH OF ZOO 2 1.3	60.00 0.00 0.00 0.00 0.00 2.00 4.00 0.00	0.33 0.33 0.33 ing and Displa 2.00 2.00 2.00	20.00 0.00 0.00 y (WBCA) (F 0.00 4.00 8.00 y (WBCA) (F	\$36.77 34.49 50.89 Cost to the cost of	\$735.40 0.00 0.00 the Governmer \$0.00 137.96 407.12 the Governmer	\$50 0 0 nt (1.75 hours p \$0 100 0 ent (6.5 hours p	\$3,000 0 0 eer response): \$0 200 0 eer response):	105	\$5,870.5
Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir Individuals/Households Private Sector State/Local/Tribal Application - Import of Bir Individuals/Households	ds for Scientific 0 1 3 ds for Scientific	1 0 0 0 0 c Research or Zoo 0 2 1.3 c Research or Zoo 0 0	0.00 0.00 0.00 0.00 0.00 0.00 2.00 4.00 0logical Breedi	0.33 0.33 0.33 ing and Displa 2.00 2.00 2.00 ing and Displa 1.75	20.00 0.00 0.00 y (WBCA) (F 0.00 4.00 8.00 y (WBCA) (F 0.00	\$36.77 34.49 50.89 Cost to	\$735.40 0.00 0.00 he Governmer \$0.00 137.96 407.12 the Governme \$0.00 \$0.00	\$50 0 0 nt (1.75 hours p \$0 100 0 ent (6.5 hours p	\$3,000 0 0 0er response): \$0 200 0 er response):	105	

Individuals/Households	0	0	0.00	1.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	2	2.00	1.75	4.00	34.49	137.96	100	200		
State/Local/Tribal	1	1.3	1.00	1.75	2.00	50.89	101.78	0	0		
	•		'			Cost to	the Governme	ent (6.5 hours p	er response):	20	\$1,090.25
Amendment - Import of Bir	ds for Scientifi	c Research or Zo	ological Breed	ling and Displa	ay (WBCA) (I	Form 3-200-47	7) (ePermits)				
Individuals/Households	0	0	0.00	1.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	2	2.00	1.50	3.00	34.49	103.47	100	200		
State/Local/Tribal	1	1	1.00	1.50	2.00	50.89	101.78	0	0		
						Cost to t	he Governmer	nt (6.25 hours p	er response):	19	\$1,048.31
Application - Import of Bird	ds Under an Ap	proved Cooperat	ive Breeding P	rogram (WBC	A) (Form 3-2	00-48)					
Individuals/Households	1	1	1.00	1.00	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	2	2.00	1.00	2.00	34.49	68.98	100	200		
State/Local/Tribal	1	1	1.00	1.00	1.00	50.89	50.89	0	0		
						Cost t	o the Governr	nent (4 hours p	er response):	16	\$894.56
Application - Import of Bird	ds Under an Ap	proved Cooperat	ive Breeding F	Program (WBC	A) (Form 3-2	200-48) (ePern	nits)				
Individuals/Households	1	1	1.00	0.75	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	2	2.00	0.75	2.00	34.49	68.98	100	200		
State/Local/Tribal	1	1	1.00	0.75	1.00	50.89	50.89	0	0		
						Cost to t	he Governmer	nt (3.75 hours p	er response):	15	\$838.65
Amendment - Import of Bir	ds Under an Ap	proved Coopera	tive Breeding I	Program (WBC	CA) (Form 3-2	200-48)					
Individuals/Households	1	1	1.00	0.75	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	2	2.00	0.75	2.00	34.49	68.98	100	200		
State/Local/Tribal	1	1	1.00	0.75	1.00	50.89	50.89	0	0		
						Cost t	o the Governr	nent (4 hours p	er response):	16	\$894.56
Amendment - Import of Bir	ds Under an Ap	proved Coopera	tive Breeding	Program (WB0	CA) (Form 3-	200-48) (ePer	mits)				
Individuals/Households	1	1	1.00	0.50	1.00	\$36.77	\$36.77	\$100	\$100		
Private Sector	1	2	2.00	0.50	1.00	34.49	34.49	100	200		
State/Local/Tribal	1	1	1.00	0.50	1.00	50.89	50.89	0	0		
						Cost to t	he Governmer	nt (3.75 hours p	er response):	15	\$838.65
Application - Approval, Am	nendment or Re	newal of a Coope	erative Breedin	ng Program (W	BCA) (Form	3-200-49)					
Individuals/Households	1	1	1.00	3.00	3.00	\$36.77	\$110.31	\$200	\$200		
Private Sector	2	1.25	3.00	3.00	9.00	34.49	310.41	200	600		
State/Local/Tribal	1	1	1.00	3.00	3.00	50.89	152.67	0	0		
						Cost t	o the Governr	nent (8 hours p	er response):	40	\$2,236.40
Application - Approval, Am	nendment or Re	newal of a Coope	erative Breedir	ng Program (W	/BCA) (Form	3-200-49) (eF	Permits)				
Individuals/Households	1	1	1.00	2.50	3.00	\$36.77	\$110.31	\$200	\$200		
Private Sector	2	1.25	3.00	2.50	8.00	34.49	275.92	200	600		
State/Local/Tribal	1	1	1.00	2.50	3.00	50.89	152.67	0	0		
						Cost to t	he Governmer	nt (7.75 hours p	er response):	39	\$2,166.51

Application - Approval of	Suctainable Hee	Management Dis	n Under WPC	·A (Earm 2 200	E0)						
	0	-				¢26.77	¢0.00	φO	¢ 0		
Individuals/Households		1	0.00	10.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	10.00	10.00	34.49	344.90	0	0		
State/Local/Tribal	1	1	1.00	10.00	10.00	50.89	508.90	0	0		4700 7
							the Governn	nent (7 hours p	er response):	14	\$782.74
Application - Approval of		Management Pla	an Under WBC)- <mark>50) (ePerm</mark> i						
Individuals/Households	0	1	0.00	9.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	9.00	9.00	34.49	310.41	0	0		
State/Local/Tribal	1	1	1.00	9.00	9.00	50.89	458.01	0	0		
						Cost to th	ne Governmen	t (6.75 hours p	er response):	14	\$754.79
Application - Approval of	a Foreign Breed	ing Facility unde	r WBCA (Forn	n 3-200-51)							
Individuals/Households	1	1	1.00	8.00	8.00	\$36.77	\$294.16	\$250	\$250		
Private Sector	1	1	1.00	8.00	8.00	34.49	275.92	250	250		
State/Local/Tribal	0	0	0.00	8.00	0.00	50.89	0.00	0	0		
						Cost to	the Governn	nent (8 hours p	er response):	16	\$894.56
Application - Approval of a	a Foreign Breed	ing Facility unde	r WBCA (Forn	n 3-200-51) <i>(eF</i>	Permits)						
Individuals/Households	1	1	1.00	7.00	7.00	\$36.77	\$257.39	\$250	\$250		
Private Sector	1	1	1.00	7.00	7.00	34.49	241.43	250	250		
State/Local/Tribal	0	0	0.00	7.00	0.00	50.89	0.00	0	0		
						Cost to th	ne Governmen	t (7.75 hours p	er response):	16	\$866.61
Application - Reissuance,	Renewal, or Am	nendment of a Pe	rmit (Form 3-2	00-52)							
Individuals/Households	1	1	1.00	0.25	0.00	\$36.77	\$0.00	\$100	\$100		
Private Sector	1	1	1.00	0.25	0.00	34.49	0.00	100	100		
State/Local/Tribal	1	1	1.00	0.25	0.00	50.89	0.00	0	0		
						Cost to 1	the Governme	nt (2.5 hours p	er response):	8	\$419.33
Application - Reissuance,	Renewal, or Am	nendment of a Pe	rmit (Form 3-2	00-52) (ePerm	its)			,	. /		
Individuals/Households	1	1	1.00	0.20	0.00	\$36.77	\$0.00	\$100	\$100		
Private Sector	1	1	1.00	0.20	0.00	34.49	0.00	100	100		
State/Local/Tribal	1	1	1.00	0.20	0.00	50.89	0.00	0	0		+
Otato/Eoda/ Ilibai			2.00	0.20	0.00			nt (2.25 hours p	er resnonse):	7	\$377.39
Application - Export/Re-Ex	coort of Live Car	ntive-Held Marine	Mammals (CI	TES) (Form 3-	200-53)	00011011		. (2120 110013 p		,	ψ077.00
Individuals/Households	0	0	0.00	2.00	0.00	\$36.77	\$0.00	\$0	\$0		T
Private Sector	2	1	2.00	2.00	4.00	34.49	137.96	100	200		+
State/Local/Tribal	1	1	1.00	2.00	2.00	50.89	101.78	0	0		-
State/Local/ Mai		<u> </u>	1.00	2.00	2.00			ent (6.5 hours p		20	\$1,090.25
Application Export/De Fr	vnort of Live Co	ntivo Hold Morins	Mammala (CI	TEC) (Form 2	200 E2\ (oBo		ine Governme	nt (6.5 nours p	er response):	20	\$1,090.25
Application - Export/Re-Ex							#0 00 l	40	40		T
Individuals/Households	0	0	0.00	1.75	0.00	\$36.77	\$0.00	\$0	\$0		+
Private Sector	2	1	2.00	1.75	4.00	34.49	137.96	100	200		-
State/Local/Tribal	1	1	1.00	1.75	2.00	50.89	101.78	0	0		

						Cost to t	the Governmen	nt (6.25 hours p	er response):	19	\$1,048.31
Amendment - Export/Re-Ex	port of Live Ca	aptive-Held Marin	e Mammals (C	ITES) (Form 3	-200-53)						
Individuals/Households	0	0	0.00	1.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	1.75	2.00	34.49	68.98	100	100		
State/Local/Tribal	1	1	1.00	1.75	2.00	50.89	101.78	0	0		
						Cost to	the Governme	ent (6.5 hours p	er response):	13	\$726.83
Amendment - Export/Re-Ex	cport of Live Ca	aptive-Held Marin	e Mammals (C	ITES) (Form 3	3-200-53) (ePe	ermits)					
Individuals/Households	0	0	0.00	1.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	1.50	2.00	34.49	68.98	100	100		
State/Local/Tribal	1	1	1.00	1.50	2.00	50.89	101.78	0	0		
	<u> </u>					Cost to t	he Governme	nt (6.25 hours p	er response):	13	\$698.88
Application - Permit Issued	I Retrospective	ely - Supplementa	l Application (CITES) (Form	3-200-58)						
Individuals/Households	1	1	1.00	1.00	1.00	\$36.77	\$36.77	\$0	\$0		
Private Sector	0	0	0.00	1.00	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	1.00	0.00	50.89	0.00	0	0		
						Cost	to the Governi	nent (3 hours p	er response):	3	\$167.73
Application - Permit Issued	I Retrospective	ely - Supplementa	l Application (CITES) (Form	3-200-58) (el	Permits)					
Individuals/Households	1	1	1.00	0.75	1.00	\$36.77	\$36.77	\$0	\$0		
Private Sector	0	0	0.00	0.75	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.75	0.00	50.89	0.00	0	0		
				•		Cost to t	he Governme	nt (2.75 hours p	er response):	3	\$153.75
Annual Report - American	Ginseng Expor	rt Program (Form	3-200-61)								
Individuals/Households	1	1	1.00	43.50	44.00	\$36.77	\$1,617.88	\$120	\$120		
Private Sector	1	1	1.00	43.50	44.00	34.49	1,517.56	120	120		
State/Local/Tribal	12	1	12.00	43.50	522.00	50.89	26,564.58	0	0		
						Cost	to the Governi	nent (3 hours p	er response):	42	\$2,348.22
Annual Report - American	Ginseng Expo	rt Program (Form	3-200-61) (ePe	ermits)							
Individuals/Households	1	1	1.00	40.00	40.00	\$36.77	\$1,470.80	\$120	\$120		
Private Sector	1	1	1.00	40.00	40.00	34.49	1,379.60	120	120		
State/Local/Tribal	12	1	12.00	40.00	480.00	50.89	24,427.20	0	0		
						Cost to t	he Governmer	nt (2.75 hours p	er response):	39	\$2,152.54
Application - Certificate of	Ownership for	Personally Owne	d Wildlife "Pe	t Passport" (C	ITES) (Form	3-200-64)					
Individuals/Households	47	1.11	52.00	0.33	17.00	\$36.77	\$625.09	\$75	\$3,900		
Private Sector	0	0	0.00	0.33	0.00	34.49		0	0		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
	1							nent (2 hours p	er response):	104	\$5,814.64
Application - Certificate of	Ownership for	Personally Owne	d Wildlife "Pet	t Passport" (C	ITES) (Form	3-200-64) (eP	Permits)	,	,		
Individuals/Households	47	1.11	52.00	0.25	13.00	\$36.77	\$478.01	\$75	\$3,900		
Private Sector	0	0	0.00	0.25	0.00	34.49		0	0		

State/Local/Tribal	0	0	0.00	0.25	0.00	50.89	0.00	0	0		
						Cost to t	he Governme	nt (1.75 hours p	er response):	91	\$5,087.81
Application - Registration	of Appendix-I C	ommercial Breed	ling Operation	s (CITES) (For	m 3-200-65)						
Individuals/Households	0	0	0.00	40.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	40.00	40.00	34.49	1,379.60	100	100		
State/Local/Tribal	0	0	0.00	40.00	0.00	50.89	0.00	0	0		
						Cost	to the Governr	nent (5 hours p	er response):	5	\$279.55
Application - Registration	of Appendix-I C	ommercial Breed	ling Operation	s (CITES) (Foi	m 3-200-65)	(ePermits)					
Individuals/Households	0	0	0.00	36.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	36.00	36.00	34.49	1,241.64	100	100		
State/Local/Tribal	0	0	0.00	36.00	0.00	50.89	0.00	0	0		
						Cost to t	he Governmer	nt (4.75 hours p	er response):	5	\$265.57
Application - Renewal of C	ITES Registration	on of Commercia	l Breeding Op	erations (FWS	Form 3-200-	-65)					
Individuals/Households	0	0	0.00	20.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	20.00	20.00	34.49	689.80	50	50		
State/Local/Tribal	0	0	0.00	20.00	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (25 hours p	er response):	25	\$1,397.75
Application - Renewal of C	ITES Registration	on of Commercia	l Breeding Op	erations (FWS	Form 3-200	- <mark>65) (ePermit</mark> s	s)				
Individuals/Households	0	0	0.00	18.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	18.00	18.00	34.49	620.82	50	50		
State/Local/Tribal	0	0	0.00	18.00	0.00	50.89	0.00	0	0		
						Cost to	the Governm	ent (24 hours p	er response):	24	\$1,341.84
Application - Replacement	Document (CIT	ES/ESA/MMPA/W	/BCA/Lacey A	ct) (Form 3-20	0-66)						
Individuals/Households	1	1	1.00	0.25	0.00	\$36.77	\$0.00	\$50	\$50		
Private Sector	1	1	1.00	0.25	0.00	34.49	0.00	50	50		
State/Local/Tribal	1	1	1.00	0.25	0.00	50.89	0.00	0	0		
						Cost	to the Govern	nment (1 hour p	er response):	3	\$167.73
Application - Replacement	Document (CIT	ES/ESA/MMPA/V	VBCA/Lacey A	ct) (Form 3-20	0-66) (ePerm	nits)					
Individuals/Households	1	1	1.00	0.20	0.00	\$36.77	\$0.00	\$50	\$50		
Private Sector	1	1	1.00	0.20	0.00	34.49	0.00	50	50		
State/Local/Tribal	1	1	1.00	0.20	0.00	50.89	0.00	0	0		
						Cost to t	he Governmei	nt (0.75 hours p	er response):	2	\$125.80
Application -Transport of E	Bald and Golder	Eagle from the	US for Scientif	fic or Exhibition	n Purposes	(CITES) (Forr	n 3-200-69)				
Individuals/Households	1	1	1.00	0.50	1.00	\$36.77	\$36.77	\$75	\$75		
Private Sector	1	1	1.00	0.50	1.00	34.49	34.49	75	75		
State/Local/Tribal	0	1	0.00	0.50	0.00	50.89	0.00	0	0		
						Cost	to the Govern	nment (1 hour p	er response):	2	\$111.82
Application - Transport of	Bald and Golde	n Eagle from the	US for Scienti	ific or Exhibiti	on Purposes	(CITES) (For	m 3-200-69) (e	Permits)			
Individuals/Households	1	1	1.00	0.33	0.00	\$36.77	\$0.00	\$75	\$75		

Private Sector	1	1	1.00	0.33	0.00	34.49	0.00	75	75		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost to t	he Governme	nt (0.75 hours p	er response):	2	\$83.87
Application - Export/Re-Im	port/Transport	of Bald and Gold	len Eagle for II	ndian Religiou	s Purposes	(CITES) (Forn	n 3-200-70)				
Individuals/Households	6	1	6.00	0.50	3.00	\$36.77	\$110.31	\$0	\$0		
Private Sector	0	0	0.00	0.50	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0		
						Cost	to the Govern	ment (1 hour p	er response):	6	\$335.46
Application - Export/Re-Im	port/Transport	of Bald and Gold	len Eagle for li	ndian Religiou	s Purposes	(CITES) (Forn	n 3-200-70) <i>(el</i>	Permits)			
Individuals/Households	6	1	6.00	0.33	2.00	\$36.77	\$73.54	\$0	\$0		
Private Sector	0	0	0.00	0.33	0.00	34.49	0.00	0	0		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost to t	he Governmei	nt (0.75 hours p	er response):	5	\$251.60
Application - Re-Export of	Wildlife (CITES)) (Form 3-200-73)									
Individuals/Households	10	1	10.00	0.50	5.00	\$36.77	\$183.85	\$75	\$750		
Private Sector	865	1	865.00	0.50	433.00	34.49	14,934.17	75	64,875		
State/Local/Tribal	4	1	4.00	0.50	2.00	50.89	101.78	0	0		
						Cost t	to the Governi	nent (2 hours p	er response):	1,758	\$98,289.78
Application - Re-Export of	Wildlife (CITES)) (Form 3-200-73)	(ePermits)								
Individuals/Households	10	1	10.00	0.33	3.00	\$36.77	\$110.31	\$75	\$750		
Private Sector	865	1	865.00	0.33	285.00	34.49	9,829.65	75	64,875		
State/Local/Tribal	4	1	4.00	0.33	1.00	50.89	50.89	0	0		
						Cost to t	he Governmei	nt (1.75 hours p	er response):	1,538	\$86,003.56
Amendment - Re-Export of	Wildlife (CITES	(Form 3-200-73))								
Individuals/Households	5	1	5.00	0.33	2.00	\$36.77	\$73.54	\$75	\$375		
Private Sector	300	1	300.00	0.33	99.00	34.49	3,414.51	75	22,500		
State/Local/Tribal	1	1	1.00	0.33	0.00	50.89	0.00	0	0		
						Cost	to the Governi	nent (2 hours p	er response):	612	\$34,216.92
Amendment - Re-Export of	Wildlife (CITES	(Form 3-200-73)) (ePermits)								
Individuals/Households	5	1	5.00	0.25	1.00	\$36.77	\$36.77	\$75	\$375		
Private Sector	300	1	300.00	0.25	75.00	34.49	2,586.75	75	22,500		
State/Local/Tribal	1	1	1.00	0.25	0.00	50.89	0.00	0	0		
						Cost to t	he Governmei	nt (1.75 hours p	er response):	536	\$29,939.81
Application - Partially Com	plete Certificate	es Under a Maste	r File or an An	nual Program	File (Form 3						
Individuals/Households	1	1	1.00	0.10	0.00	\$36.77	\$0.00	\$30	\$30		
Private Sector	123	2.7	332.00	0.10	33.00	34.49	1,138.17	30	9,960		
State/Local/Tribal	4	1	4.00	0.10	0.00	50.89	0.00	0	0		
						Cost to	the Governme	ent (0.5 hours p	er response):	169	\$9,420.84
Application - Partially Complete Certificates Under a Master File or an Annual Program File (Form 3-200-74) (ePermits)											

Individuals/Households	1	1	1.00	0.08	0.00	\$36.77	\$0.00	\$30	\$30		
Private Sector	123	2.7	332.00	0.08	27.00	34.49	931.23	30	9,960		
State/Local/Tribal	4	1	4.00	0.08	0.00	50.89	0.00	0	0,500		
State/Eodai/Tribai	4		4.00	0.00	0.00			ent (0.5 hours p	er resnonse):	169	\$9,420.84
Application - Registration of	of a Production	Facility for Expo	rt of Certain N	ative Species	(Form 3-200-		the Governme	.π (0.5 πουτ 5 μ	er responsej.	103	ψ3,420.04
Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	20	1	20.00	0.50	10.00	34.49	344.90	50	1,000		
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0		
State/Eodai/Tribai			0.00	0.50	0.00			nent (7 hours p	er response):	140	\$7,827.40
Application - Registration o	of a Production	Facility for Expo	rt of Certain N	ative Species	(Form 3-200			none (7 nouro p	or responsey.	110	ψ1,021140
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	20	1	20.00	0.33	7.00	34.49	241.43	50	1,000		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
								nt (6.75 hours p	er response):	135	\$7,547.85
Amendment - Registration	of a Production	n Facility for Expo	ort of Certain N	Native Species	(Form 3-200			,	, ,		
Individuals/Households	0	0	0.00	0.33	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	5	1	5.00	0.33	2.00	34.49	68.98	50	250		
State/Local/Tribal	0	0	0.00	0.33	0.00	50.89	0.00	0	0		
						Cost	to the Governr	nent (7 hours p	er response):	35	\$1,956.85
Amendment - Registration	of a Production	n Facility for Expe	ort of Certain I	Native Species	(Form 3-200	0-75) (ePermit	ts)				
Individuals/Households	0	0	0.00	0.25	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	5	1	5.00	0.25	1.00	34.49	34.49	50	250		
State/Local/Tribal	0	0	0.00	0.25	0.00	50.89	0.00	0	0		
						Cost to t	he Governmer	nt (6.75 hours p	er response):	34	\$1,886.96
Application - Export of Cav	riar or Meat of F	addlefish or Stu	rgeon Remove	d from the Wil	ld (CITES) (F	orm 3-200-76)				
Individuals/Households	0	0	0.00	3.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	6.3	13.00	3.00	39.00	34.49	1,345.11	150	1,950		
State/Local/Tribal	0	0	0.00	3.00	0.00	50.89	0.00	0	0		
						Cost	to the Governr	nent (8 hours p	er response):	104	\$5,814.64
Application - Export of Cav	viar or Meat of F	Paddlefish or Stu	rgeon Remove	d from the Wi	ld (CITES) (F	orm 3-200-76) (ePermits)				
Individuals/Households	0	0	0.00	2.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	6.3	13.00	2.50	33.00	34.49	1,138.17	150	1,950		
State/Local/Tribal	0	0	0.00	2.50	0.00	50.89	0.00	0	0		
						Cost to t	he Governmer	nt (7.75 hours p	er response):	101	\$5,632.93
Amendment - Export of Cav	viar or Meat of	Paddlefish or Stu	rgeon Remov	ed from the W	ild (CITES) (I	Form 3-200-76	5)				
Individuals/Households	0	0	0.00	2.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	6.3	6.00	2.50	15.00	34.49	517.35	150	900		
State/Local/Tribal	0	0	0.00	2.50	0.00	50.89	0.00	0	0		
						Cost	to the Governr	nent (8 hours p	er response):	48	\$2,683.68

Amendment - Export of Ca	viar or Meat of	Paddlefish or Stu	ırgeon Remov	ed from the W	ild (CITES) (I	Form 3-200-7	6) (ePermits)				
Individuals/Households	0	0	0.00	2.25	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	6.3	6.00	2.25	14.00	34.49	482.86	150	900		
State/Local/Tribal	0	0	0.00	2.25	0.00	50.89	0.00	0	0		
						Cost to t	he Governmer	nt (7.75 hours p	er response):	47	\$2,599.82
Application - Export of Fer	tilized Live Egg	ıs, Caviar or Meat	from Aquacu	tured Paddlefi	ish or Sturge	eon (CITES) (I	Form 3-200-80)				
Individuals/Households	0	0	0.00	3.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1	2.00	3.00	6.00	34.49	206.94	100	200		
State/Local/Tribal	0	0	0.00	3.00	0.00	50.89	0.00	0	0		
						Cost	to the Governr	nent (6 hours p	er response):	12	\$670.92
Application - Export of Fer	tilized Live Egg	ıs, Caviar or Meat	from Aquacu	tured Paddlef	ish or Sturge	eon (CITES) (Form 3-200-80	(ePermits)			
Individuals/Households	0	0	0.00	2.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1	2.00	2.75	6.00	34.49	206.94	100	200		
State/Local/Tribal	0	0	0.00	2.75	0.00	50.89	0.00	0	0		
						Cost to t	he Governmer	nt (5.75 hours p	er response):	12	\$642.97
Amendment - Export of Fe	rtilized Live Eg	gs, Caviar or Mea	t from Aquacu	Itured Paddle	ish or Sturg	eon (CITES)	Form 3-200-80))			
Individuals/Households	0	0	0.00	2.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	2.50	3.00	34.49	103.47	100	100		
State/Local/Tribal	0	0	0.00	2.50	0.00	50.89	0.00	0	0		
						Cost	to the Governr	nent (6 hours p	er response):	6	\$335.46
Amendment - Export of Fe	rtilized Live Eg	gs, Caviar or Mea	t from Aquacu	Itured Paddle	fish or Sturg	eon (CITES)	(Form 3-200-80) (ePermits)			
Individuals/Households	0	0	0.00	2.25	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	2.25	2.00	34.49	68.98	100	100		
State/Local/Tribal	0	0	0.00	2.25	0.00	50.89	0.00	0	0		
								nt (5.75 hours p	er response):	6	\$321.48
Application - Establishmen			of Live Anima	Is Bred in Cap	tivity in the l	US (CITES) (F	orm 3-200-85)				
Individuals/Households	0	0	0.00	1.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	6	1.15	7.00	1.00	7.00	34.49	241.43	100	700		
State/Local/Tribal	0	0	0.00	1.00	0.00	50.89	0.00	0	0		
								ent (10 hours p	er response):	70	\$3,913.70
Application - Establish a M		-		· ·			-				
Individuals/Households	0	0	0.00	0.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	6	1.15	7.00	0.75	5.00	34.49		100	700		
State/Local/Tribal	0	0	0.00	0.75	0.00	50.89		0	0	a=	4
		La Para de Cara	0	Aut. (0)	-0) (F:		tne Governme	ent (9.5 hours p	er response):	67	\$3,718.02
Amendment - Establish a N											
Individuals/Households	0	0	0.00	0.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1.15	2.00	0.75	2.00	34.49		100	200		
State/Local/Tribal	0	0	0.00	0.75	0.00	50.89	0.00	0	0		

						Cost to	the Governm	ent (10 hours p	er response):	20	\$1,118.20
Amendment - Establish a M	laster File for t	the Export of Liv	e Captive-Bred	Animals (CITI	ES) (Form 3-2	200-85) (ePeri	mits)				
Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1.15	2.00	0.50	1.00	34.49	34.49	100	200		
State/Local/Tribal	0	0	0.00	0.50	0.00	50.89	0.00	0	0		
						Cost to	the Governme	ent (9.5 hours p	er response):	19	\$1,062.29
Application - Photography	of Marine Man	nmals for Educat	ional or Comm	ercial Purpose	es Under the	MMPA (Form	3-200-86)				
Individuals/Households	0	0	0.00	2.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	3	1	3.00	2.00	6.00	34.49	206.94	150	450		
State/Local/Tribal	1	1	1.00	2.00	2.00	50.89	101.78	0	0		
				•		Cost to	the Governm	ent (30 hours p	er response):	120	\$6,709.20
Application - Photography	of Marine Man	nmals for Educat	ional or Comm	ercial Purpose	es Under the	MMPA (Form	3-200-86) (eP	ermits)			
Individuals/Households	0	0	0.00	1.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	3	1	3.00	1.75	5.00	34.49	172.45	150	450		
State/Local/Tribal	1	1	1.00	1.75	2.00	50.89	101.78	0	0		
		•				Cost to	the Governm	ent (29 hours p	er response):	116	\$6,485.56
Amendment - Photography	of Marine Mar	mmals for Educa	tional or Comm	nercial Purpos	es Under the	MMPA (Forn	າ 3-200-86)				
Individuals/Households	0	0	0.00	1.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	1.75	2.00	34.49	68.98	150	150		
State/Local/Tribal	1	1	1.00	1.75	2.00	50.89	101.78	0	0		
		•				Cost to	the Governm	ent (30 hours p	er response):	60	\$3,354.60
Amendment - Photography	of Marine Mar	mmals for Educa	tional or Comm	nercial Purpos	es Under the	MMPA (Forn	n 3-200-86) <i>(eF</i>	Permits)			
Individuals/Households	0	0	0.00	1.50	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	1.50	2.00	34.49	68.98	150	150		
State/Local/Tribal	1	1	1.00	1.50	2.00	50.89	101.78	0	0		
		•				Cost to	the Governm	ent (29 hours p	er response):	58	\$3,242.78
Application - Transfer/Trans	sport of Live C	Captive-Held Mar	ine Mammals (F	orm 3-200-87)						
Individuals/Households	0	0	0.00	1.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1	2.00	1.00	2.00	34.49	68.98	0	0		
State/Local/Tribal	5	1.1	6.00	1.00	6.00	50.89	305.34	0	0		
		•				Cost to	the Governm	ent (10 hours p	er response):	80	\$4,472.80
Application - Transfer/Trans	sport of Live C	Captive-Held Mar	ine Mammals (F	Form 3-200-87) (ePermits)						
Individuals/Households	0	0	0.00	0.75	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	2	1	2.00	0.75	2.00	34.49	68.98	0	0		
State/Local/Tribal	5	1.1	6.00	0.75	5.00	50.89	254.45	0	0		
						Cost to	the Governme	ent (9.5 hours p	er response):	76	\$4,249.16
Application - Export of Pre-	Convention, P	re-Act, or Antiqu	ıe Musical Instr	ument/Traveli	ing Exhibition	n Certificate (MMPA, ESA a	nd/or CITES) (F	orm 3-200-88)		
Individuals/Households	14	1	14.00	1.50	21.00	\$36.77	\$772.17	\$75	\$1,050		
Private Sector	1	1	1.00	1.50	2.00	34.49	68.98	75	75		

State/Local/Tribal	1	1	1.00	1.50	2.00	50.89	101.78	0	0		
						Cost t	o the Governi	nent (3 hours p	er response):	48	\$2,683.68
Application - Export of Pre	-Convention, P	re-Act, or Antique	e Musical Instr	ument/Traveli	ng Exhibitio	n Certificate (MMPA, ESA a	nd/or CITES) (F	orm 3-200-88)	(ePermits)	
Individuals/Households	14	1	14.00	1.25	18.00	\$36.77	\$661.86	\$75	\$1,050		
Private Sector	1	1	1.00	1.25	1.00	34.49	34.49	75	75		
State/Local/Tribal	1	1	1.00	1.25	1.00	50.89	50.89	0	0		
						Cost to ti	he Governmei	nt (2.75 hours p	er response):	44	\$2,460.04
Amendment - Export of Pre	e-Convention, P	re-Act, or Antiqu	e Musical Inst	rument/Travel	ing Exhibitio	n Certificate (MMPA, ESA a	ınd/or CITES) (Form 3-200-88)	
Individuals/Households	3	1	3.00	1.25	4.00	\$36.77	\$147.08	\$75	\$225		
Private Sector	1	1	1.00	1.25	1.00	34.49	34.49	75	75		
State/Local/Tribal	1	1	1.00	1.25	1.00	50.89	50.89	0	0		
						Cost t	o the Governi	nent (3 hours p	er response):	15	\$838.65
Amendment - Export of Pre	e-Convention, P	Pre-Act, or Antiqu	e Musical Inst	rument/Trave	ing Exhibition	n Certificate	(MMPA, ESA a	and/or CITES) (Form 3-200-88) (ePermits)	
Individuals/Households	3	1	3.00	1.00	3.00	\$36.77	\$110.31	\$75	\$225		
Private Sector	1	1	1.00	1.00	1.00	34.49	34.49	75	75		
State/Local/Tribal	1	1	1.00	1.00	1.00	50.89	50.89	0	0		
						Cost to ti	he Governmei	nt (2.75 hours p	er response):	14	\$768.76
Request for Approval of a	CITES Export P	rogram (America	n Ginseng, Cl	TES furbearers	s, American	Alligator)					
Individuals/Households	0	0	0.00	12.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	12.00	12.00	34.49	413.88	0	0		
State/Local/Tribal	1	1	1.00	12.00	12.00	50.89	610.68	0	0		
						Cost	to the Govern	ment (1 hour p	er response):	2	\$111.82
Report for Furbearer CITES	S Export Progra	ıms									
Individuals/Households	0	0	0.00	1.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	0	0	0.00	1.00	0.00	34.49	0.00	0	0		
State/Local/Tribal	40	1	40.00	1.00	40.00	50.89	2,035.60	0	0		
						Cost to ti	he Governmei	nt (0.25 hours p	er response):	10	\$559.10
Report for American Alliga	tor CITES Expo	rt Program									
Individuals/Households	0	0	0.00	1.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	1.00	1.00	34.49	34.49	0	0		
State/Local/Tribal	5	1	5.00	1.00	5.00	50.89	254.45	0	0		
						Cost to ti	he Governmei	nt (0.25 hours p	er response):	2	\$83.87
Application - Participation	in the Plant Res	scue Center Prog	ram								
Individuals/Households	0	0	0.00	1.00	0.00	\$36.77	\$0.00	\$0	\$0		
Private Sector	1	1	1.00	1.00	1.00	34.49	34.49	0	0		
State/Local/Tribal	1	1	1.00	1.00	1.00	50.89	50.89	0	0		
						Cost to	the Governme	ent (0.5 hours p	er response):	1	\$55.91
Report - Plant Rescue Prog	gram Receipt ar	nd Condition of S	pecimens								
Individuals/Households	0	0	0.00	0.50	0.00	\$36.77	\$0.00	\$0	\$0		

					· · · · · · · · ·						
		0	0	137.96	34.49	4.00	0.50	8.00	1	8	Private Sector
		0	0	50.89	50.89	1.00	0.50	1.00	1	1	State/Local/Tribal
\$251.60	5	er response):	ent (0.5 hours p	the Governme	Cost to						
											Report Take (Grizzly Bears)
		\$0	\$0	\$0.00	\$36.77	0.00	0.25	1.00	1	1	Individuals/Households
		0	0	0.00	34.49	0.00	0.25	0.00	0	0	Private Sector
		0	0	0.00	50.89	0.00	0.25	1.00	1	1	State/Local/Tribal
\$1,789.12	32	er response):	ent (16 hours p	the Governm	Cost to						
										1)	Report Take (Mountain Lio
		\$0	\$0	\$73.54	\$36.77	2.00	0.25	7.00	1	7	Individuals/Households
		0	0	0.00	34.49	0.00	0.25	0.00	1	0	Private Sector
		0	0	101.78	50.89	2.00	0.25	8.00	1	8	State/Local/Tribal
\$13,418.40	240	er response):	ent (16 hours p	the Governm	Cost to						
					Trophies	port Hunted	an Elephant S	viar, and Afric	uga Sturgeon Ca	Products, Beli	Marking/Labeling of Vicuna
		\$0	\$0	\$0.00	\$36.77	0.00	0.50	0.00	0	0	Individuals/Households
		0	0	0.00	34.49	0.00	0.50	0.00	0	0	Private Sector
		0	0	15,317.89	50.89	301.00	0.50	601.00	1.276	471	State/Local/Tribal
\$33,601.91	601	er response):	ment (1 hour p	to the Govern	Cost						
_		·								n	Beluga Sturgeon Exemptio
		\$0	\$0	\$0.00	\$36.77	0.00	16.00	0.00	0	0	Individuals/Households
		0	0	551.84	34.49	16.00	16.00	1.00	1	1	Private Sector
		0	0	0.00	50.89	0.00	16.00	0.00	0	0	State/Local/Tribal
\$55.91	1	er response):	ment (1 hour p	to the Govern	Cost						
											Wildlife Hybrid Exemption
		\$0	\$0	\$2,757.75	\$36.77	75.00	0.50	150.00	2	75	Individuals/Households
		0	0	0.00	34.49	0.00	0.50	0.00	0	0	Private Sector
		0	0	0.00	50.89	0.00	0.50	0.00	0	0	State/Local/Tribal
\$4,193.25	75	er response):	ent (0.5 hours p	the Governme	Cost to		•				
									er Import	Specimens afte	Exception to Use of CITES
		\$0	\$0	\$4,596.25	\$36.77	125.00	0.50	250.00	1	250	Individuals/Households
		0	0	0.00	34.49	0.00	0.50	0.00	0	0	Private Sector
		0	0	0.00	50.89	0.00	0.50	0.00	0	0	State/Local/Tribal
·									W	quirements NEI	International Reporting Rec
		\$0	\$0	\$0.00	\$36.77	0.00	8.00	0.00	0	0	Individuals/Households
		0	0	0.00	34.49	0.00	8.00	0.00	0	0	Private Sector
		0	0	9,770.88	50.89	192.00	8.00	24.00	2	12	Foreign Goverments
\$1,341.84	24	er response):	ment (1 hour p	to the Govern	Cost						
\$2,023,075.40		\$629,400		\$314,506.25		7,961		8,912		6,659	TOTAL: